longitude

starting point of the different tracks

- : : {1 9397 | ) t |

! 1 1 ) > b \ 1

e e ! ; ' 3 [8.35 \ :

= L : 1 1 1 . !

Node Path e e Iy = ‘ = s e :
2% 3 jxf D +  We set the barcelona map : ! LPM :

E ] 1 B S 684 .. 1

Containsiaval P , o as the base surface : .54646, 6881.984254, 1 {7 :

: ‘ : : E Eis { = :

: __ : 54176 {4081.881285, 6881.761943, % - ) :

We used the equation : &P D XYZ P D : 0.0} ' 4 785 (te1) | . !

to extract from the : (EED : 54179 (4089.219305, 6879.538827, = ;

.gpx files the longitude | : 0.0} E E

and the latitude E : 5q17g (4091.470743, 6878.760736, ) & it <__ :

. latitude : ¢ P : 0.0} B K :

1 LY.| 1 T 1% 1 : d 782 44 :

: : 4 XY7 l\L)} P P 4179 14108.731768, 6866.978221, § B ok :

: Ss \ \ 0.0} 4 785 [ 521 ] 785 [209 ] '

We merged all the different tracks | TSsag : ( Geo : (4130.995988, 6849.637917 & S 187 (6771~ :
ond we created the path : eI (T ; 24180 4133 ; = ;
| \ | , , | | :

: . Kx . 2 0 > : 94235,0} Then we fixed a po1nt.on ' Through this component 24181 {4132.830493, 6848.637514, : | | | | :

| ) Contains (x,y) |R X o D : the surface and used its | . o tpact from the 0.0} j ' We used the points to create circles and then we extruded them on different heights !

: E : coordinate to make the . .gpx file all the point . We added colors at the end E



